N = 0l & AF & F Al A

2000 = =0l & 2 BHa A

ton

SH: MEtETAYA

M SteXHeAE &5
SH9l: Gh4 2 A X A (SH9l:®el)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
aot=E AN & 15,100,999 18,771,439 23,670,440
= 4,691,000
& 52,000
= 10,357,999
St=XcelAlE &= 8,352,493 9,958,619 21,606,126
= 4,691,000
& 52,000
= 3,609,493
St el &4 XA 3,685,100 3,759,903 AT4,803
= 2,173,000
& 52,000
= 1,460,100
OtSot=xelAld 580, 100 484,900 95,200
401 AIEHIZLROY| 580,100 484,900 95,200
01 A&l 576,000 482,956 93,044
O =22 85 0tsct==% MHESA
200,000,000& = 99.28/100 198,560
O 22 s DtSot=% HESA
300,000,000 * 99.28/100 297,840
O OtSot==HMel& 22l NESA 21,600
* 10004t 2,700,0008 * 23 * 44 21,600
O OtSot==xHelAld J1J] E=
3,000,000 = 8IH 24,000
O OtSot==HMelAld =22 WS A
3,000,000 * 3IH 2 9,000
O 22 &l - e AHMALH W &=
T QI AL 1,000,000& * 2044 2,000

O OtSot==xeld ZESA

18,000,008 * 14} 18,000
O AXYA2 STl A4 S HIF (400
= 5,000,0002 * 13| 5,000
03 Al&=CH] 4,100 1,944 2,156
O UX 2= 01Sot4+E ENREEY L
SII01® 442 500,008 * 14 500

O =¢ & OtSot=x HESA
200,000,000& = 0.72/100 1,440
O 22 0ls OtSot= HESA

300,000,000& * 0.72/100 2,160




SH: MetETAYA

M SteXelAME &5
&Rl ot=XalEE X ALY (el =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
BB Bot=HMelAld 3,105,000 0 3,105,000
= 2,173,000
= 52,000
= 880,000
401 Al&HIZ S04 3,105,000 0 3,105,000
= 2,173,000
= 52,000
= 880,000
01 Al&HI 2,741,729 0 2,741,729
O S20t2 ot==HM2l&E EXNAS
756,000,000& * 99.3699/100 751,237
= 525,866
fia 225,371
O &% sHXHelAME AL
1,300,000,000& * 99.64/100 1,295,320
= 906,724
i 388,596
O 22 #s ot==Held ALY
1,049,000,000& * 66.2699/100 695,172
= 486,620
= 34,460
i 174,092
02 Zeltl 350,051 0 350,051
O Z2 3s oMl AIZAY
1,049,000,000& * 33.3699/100 350,051
= 245,036
= 17,352
i 87,663
03 AlZ=0Hd] 13,220 0 13,220
O S¢0tS ot=XMeldE XA
756,000,000& = 0.63/100 4,763
= 3,134
s 1,629
O 2% sHXHelAE A
1,300,000,000& * 0.36/100 4,680
= 3,276
s 1,404
O 22 s ot==HMeld AEAY
1,049,000,000& * 0.36/100 3,777
= 2,344




SN

J(‘I iH:

At

T A

SerioiAE 3B

Sl St=Xel & A XA (232
S . "HEH . CQ (5 HEAS . HH 2 Al OH HEE Hl D=2+
_I_—I'O—|° T|(9—|j:”)' '“—l— I-CJ.LO_\ =5 0:”/&,% |J-|_61:1

== 188
i 1,245
ot A JHI 3,744,000 3,022,001 721,999
= 2,238,000
= 1,506,000
ot==2t 1 & Hi 548,000 278,000 270,000
401 Al &HI20HYI 548,000 278,000 270,000
01 Al&HI 544,382 275,516 268,866
O 2= ol H AAEH 24
80,000,000& * 14 80,000
O 255 ot==21 ZUISAHTHOE, &1D1)
20,000,000& * 29HA = 98.92/100 39,568
O &5 ZU dt=& HE sSASA
20,000,000& = 98.92/100 19,784
O 2% 22U, HEXF St=2H L SAt
50,000,000& * 98.92/100 49,460
O &% 22U 125 ot==2H ZHISA
50,000,000& * 98.92/100 49,460
O &IX 4= OtSot=% 24 &l
20,000,000& * 14 20,000
O ot==21 FHISA
50,000,000& * 98.92/100 49,460
O ULt AbS St=2t01 ZUISA
50,000,000& * 98.92/100 49,460
O B2 WE G20 ZUl3SA
5,000,000& * 1JH2A 5,000
O Dtsot=& &4 &l
4,000,000& = 1289 48,000
O 28 222 AZBSA
20,000,000& * 3H A 60,000
O 39 HMX a2t Zul3SA
20,000,000& * 98.92/100 19,784
O B4 T& o142 ZHIBA
20,000,000& * 98.92/100 19,784
O &KX 4| oSt FUISA
35,000,000& * 98.92/100 34,622
03 AlZ=0HI 3,618 2,484 1,134
O ot==2&2 ZHI3A
50,000,000& = 1.08/100 540
O 255 ot=2) FUISAHCTHOE, AID])
20,000,000& * 29HA = 1.08/100 432
O &% ZU o= g =& 3 A
20,000,000& = 1.08/100 216
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A Mot A A
=XclAlE &E

B2 of
9l ot 201 Bl (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
O 2 ZU, HEXT o2 =&IA
50,000,000 * 1.08/100 540
O 2T ZUY 195 5H42H FHIBA
50,000,000 * 1.08/100 540
O &t AHS Gt FHIZA
50,000,00091 * 1.08/100 540
O 3Y HE 5t42 JHIBA
20,000,000 * 1.08/100 216
O H&t T8 542 FHIZA
20,000,000 * 1.08/100 216
O AX AJ| B4R FHHIBA
35,000,00090 * 1.08/100 378
2485} 4 24 4 F bl 3,196,000 0 3,196,000
= 2,238,000
2 958,000
401 AlEHIL =20 3,196,000 0 3,196,000
=2 2,238,000
2 958,000
01 Al&H] 2,757,557 0 2,757,557
O 32 st JHIAY
915,000,008 * 76.31/100 698,237
= 488,766
2 209,471
O =3 st JHIAY
915,000,008 * 76.31/100 698,237
= 488,766
2 209,471
O S st JHIAY
1,366,000,0002! * 99.64/100 1,361,083
= 952,758
2 408,325
02 22l 421,998 0 421,998
O 32 st42H FHIAY
915,000,002 * 23.06/100 210,999
2 147,699
2 63,300
O =5t o423 ZHIAY
915,000,002 * 23.06/100 210,999
2 147,699
2 63,300
03 Al&SCH| 16,445 0 16,445




SA MB A
Ao SANANE HE
CHRl: 52| B H| CER-E

- - MNuE o
SN H - SR(EH) - NPAMY - BES 0 &4 o il i~ o HZ2

O 22 ot=2{ HblAg

915,000,000& = 0.6299/100 5,764
= 4,535
s 1,229

O L3 ot=21 HblAtg

915,000,000& = 0.6299/100 5,764
= 4,535
[ia 1,229
O &S ot=2 HulAtg
1,366,000,000& = 0.3599/100 4,917
= 3,242
s 1,675
ot=Xcl 32 523,393 216,710 306,683
ot=Hcld 2g2el 291,461 166,500 124,961
101 el H] 3,808 2,220 1,588
10 JIZH22XAsSE+ 3,808 2,220 1,588
O ot+=Z2xXeld F=HH AR
34,000& * 491 » 5& » 33 2,040
O SH -HEs8EZY E=HA U2Y
34,0002 * 221 * 2601 A 1,768
201 et 3] 59,608 54,430 5,178
01 AtR2cidl 44,640 37,920 6,720
O OtSot==Held =Z2HA 10,920
* e 35,000& » 2600 » 128 10,920
O ot+=ZS2xXcld SLHA JIISES 7,500
» el 223 150,000& » 3& » 12& 5,400
* ASJIFK 35,000% * 52rA » 123 2,100
O ot+=ZS2XelE sdXl H2Z A
160,000 * 43/ 640
O ot+=Z2Xcld 282 U=l 4,100
* A= 200,000& = 102! 2,000
* 29 45,0008 = 1021 = 23] 900
* OHMG 60,000& » 10¢! 600
* QtM 3 60,000& * 10! 600
O ot=Z2Held A+ 14,280
* 24X 30,000& * 111 3,330




SN

0

Fot= AR A

HE: GtEHelAlS =5
o9 SaHEHSY (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o bRz
x =3 30,0002 * 3652 10,950
O SH+Z2UMT FIloEe (e
300,008 * 24 + 128 7,200
2 ZT2YH 14,968 16,510 A1,542
O DISot+HAL LA LAZI S
MBS ABE 30,0002 * 54 * 122 1,800
O st+Z2Hely 2P S48
176,008 + 122 2,112
O SI+ELHF Y 2| 3,600
s RR0 200,008 * 104 * 128 2,400
* SXH L A2E 29
100,000 * 1CH * 122 1,200
O slazTHAF ARyl
1,14020 * 202 344 * 902 6,156
O Mot 8 albl(ot+E85])
1,300,0008 * 1o 1,300
202 oft 1,360 8,460 2,900
01 =LHolH 11,360 8,460 2,900
O ot4+E UAHel &X =l
20,0000 * 221 + 108 + 122 4,800
O BH+BLHIT SHX LSS AH(ZS)
50,0008 * 43| 200
O DI2st4MelE SR HAH(ZS)
50,0008 * 53| + 122 3,000
O Di2st4meld NE&Y
20,0002 * 201 * 7§01 * {22 3,360
206 WM& 61,560 30,380 31,180
EET 61,560 30,380 31,180
O s+EZHF 23 SH7PL
200,008 * 58 * 22 12,000
O isst4mel® 23 =2
1,000,000 * 7944 7,000
O DISot4Mel Y +RAMS 2BHLY
29 8,560
* FAANE(14)
100,008 * 108fA * 43 4,000
» BAAAEB(24)
95,0008 * 1284 * 43| 4,560
O Bt+ELHUY ASERY(HSIIE
o H 01 &t) 500,00020 * 105 * 28l 10,000




SAM: Aot AIE A
x‘liH: 6'. x—lalj\ll\-l §_|-7_<
cel: SlaHelNE (gl & e
- _ SIGE
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
O OtsSot==Hel&d 2=x 223
50,000& * 300HZA * 23] 3,000
O ot=32xXeld A= N2 #HE
400,000& * 4074 16,000
O OtSot==HMel& EFHLH A2F
1,000,000& * 54 5,000
207 Ao 27,000 0 27,000
03 AEo 2| 27,000 0 27.000
O BZBLTAANE +EBA BE 2
200,000& * 258 * 23| 10,000
O 2248 A28 7
175,0008 * 208 * 23] 7,000
O +-EHE ZUR 7Y
200,000& * 25& = 23| 10,000
401 A 4Bl =20HYI 31,000 0 31,000
01 Al&HI 31,000 0 31,000
O SBR BtSXx ZHAl & MO &8l EXI3A
31,000,000& * 14 31,000
402 BIZ2EX =0l 48,720 51,010 A2,290
02 CIZ2HCHH AL HI 48,720 51,010 A2,290
O ot=E2HEE Xl & &2 /I
X el 40,0003 = 600& 24,000
O Otsot=HMel& =Xl S Hel 16,720
* 100& 11,0002 * 80& * 120H 10,560
* H50E 11,0002 * 408 * 1404 6,160
O dt==2tH &4 =X AKX
40,000& * 100E * 23l 8,000
403 XXIEHMS K201 48,405 20,000 28,405
02 Z3J|2SOICHECHE At I 48,405 20,000 28,405
O DiSot=HMel& Jlsddeag (& F B
S, I0ALBE,E2) 9,681,000& * 54 48,405
QH+-HMeldE 2922 231,932 50,210 181,722
101 Q24| 2,040 3,200 A 1,160
10 JIZtH22AHsSE 2,040 3,200 A 1,160
O QH=+3ZxXclE NN 2
34,0003 * 42! » 3 53 2,040
201 LprE3AH| 15,232 16,110 AB78
01 At=2teldl 13,180 11,370 1,810




SN AT AL
B SRHEAL BB
o9 SaHEHSY k)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
O QU+ZLHeIE +H2AA 420
TS 35,0002 * 18] + 122 420
O RQU4BLHZ X L2AM
160,000 * 13| 160
O RH+BLHAZSY 9,000
» JIH&H 228 2
10,0008 * 105 * 43| 4,000
» RN 225 2
10,0008 * 10% * 53| 5,000
O ®JjgtEBE Ha+az
300,008 * 122 3,600
2 ZZ2YH 2,052 4,740 A2,688
O QHZLHAE Ry
1,14020 * 204 * 902 2,052
202 oft 2,080 2,080 0
01 =UHolb 2,080 2,080 0
O Q4B HIZ X2l ZA
20,0008 * 291 * 12% 480
O RQU4BLHIZ $HAA(2E)
50,0002 * 23| * 122 1,200
O RQHAZLHE BHaH SAX
20,0008 + 291 * 103 400
206 TEHI 27,280 24,320 2,960
EETI 27,280 24,320 2,960
O QUAZLHZ FB2Y 23,280
» BABE 3002 * 800kg * 122 2,880
s DEXVSTH 5,008 * 60kg * 102 3,000
» DIMSHSR 10,0002 * 30kg * 102 3,000
s Db AL 5009 * 400kg * 102 2,000
« ZRH 5,002 * 20kg * 10% 1,000
« 23 5,008 * 30kg * 128 1,800
» BED 1,920,008 * 5 9,600
O RQU4BLHIZ ASE WV BERY
400,0002! * 107} 4,000
401 AlEHIL2 0] 180,800 0 180,800
01 Al&H] 179,720 0 179,720
O =818 24 % 242 Iy
150,000,0002! * 99.28/100 148,920
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S A

0

Fot= AR A

=L I
ool si4HelHSY (@
_ _ _ Muo
SA B HRA(SH) - MRAY - B O & o4 i HREZ
O QHAZZHE &2) wAl
7,200,000& = 40K 28,800
O QHAZLHAN HEY WA
2,000,000 = 14l 2,000
03 AlZ=0idl 1,080 0 1,080
O =8 -JiI8 24 ¥ 242 =Y
150,000,000& = 0.72/100 1,080
402 QIZEXE0|H 4,500 4,500 0
02 QIZIHCHE AL HI 4,500 4,500 0
O QH+ZLHF 24X Ml
250,000& * 1.5& = 128 4,500
SHEOS ot===&H| 400,000 2,960,005 A2,560,005
= 280,000
i 120,000
sOHEOtSot==& | 400,000 0 400,000
= 280,000
= 120,000
401 AIEHIZL RO 400,000 0 400,000
= 280,000
= 120,000
01 A&l 397,120 0 397,120
O MY BF si4R2AL
200,000,000& * 99.28/100 198,560
= 138,992
i 59,568
O 22 2 Di2si+HeIAL NS
200,000,000& * 99.28/100 198,560
= 138,992
i 59,568
03 AlZ=0Hd] 2,880 0 2,880
O MY 85 sia2AlL
200,000,000& = 0.72/100 1,440
= 1,008
s 432
O 22Z Scl OtSot==HMlAld HEAY
200,000,000& = 0.72/100 1,440
= 1,008
s 432
a7 Al 2] 156,880 490,000 A 333,120




S A

chel:

At
(=}
HE: A
X

St E AL A
ST AL B2
AT 2

_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol AF o8 Hws2
Nga+c2y 156,880 490,000 £33, 120
DISa4+E KX 22 (RH) 156,880 490,000 £33, 120
206 THEH] 3,280 0 3,280
01 MEH] 3,280 0 3,280
O DIS44E AS%E 7
65,0002 * 408 A 2,600
O DIS&4E +TANE 2RH4E 7Y
85,0002 * 82 A 680
207 1P| 3,600 0 3,600
NBEEEET] 3,600 0 3,600
O Xsts A2ASEI AR
400,008 * 9H 2 3,600
401 AlEHIL O] 150,000 490,000 340,000
01 Al&H] 150,000 489, 100 339,100
O DIS&4E B4TA
2,000,0008 * 10 20,000
O DIS&2E A= SXBA
2,000,0008 * 5744 10,000
O S+g4s NESK S22 A
20,000,008 * 19 20,000
O SHXY DISA4E a3 SXIBA
20,000,000 * 54 100,000
™ 2AAY| 129,620 109,589 20,031
ol 2y 48,422 39,434 8,988
Ol 2ol (& 5H4 S A A) 48,422 39,434 8,988
101 Q12| 44,222 39,434 4,788
2 g 44,222 39,434 4,788
O zn22% 44,222
* 52 9,796% * 121 * 30AI2t * 122 3,527
* 62 8,31221 * 301 * 30AI2t * 128 8,977
732 745720 * 501 * 30AI2t * 122 13,423
* 82 668221 * 501 * 30AI2t * 128 12,008
* 01593
5,903% * 201 x 30AI2t * 128 4,315
* 15103
54228 « 191 = 30AI2t * 128 1,952
203 YREIY) 4,200 0 4,200
VRV EEEEESST 4,200 0 4,200

_10_




SN Aot AIE A
Ha: HESAAY|
2: oz 2| (£l &2
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
O 30¢2!0|3t 350,000& * 12& 4,200
Jl=3Hl 81,198 70,155 11,043
J|2Z U (ABtE=E A A) 81,198 70,155 11,043
201 LBt 70,758 62,715 8,043
01 At®2te2ldl 65,258 58,515 6,743
O 2XA2gH| 1,100,000& = 170! 18,700
O SEZ BSAE 2TAA 22
33,100& * 73| + 2000 A 4,634
O Ot2a=k =ZdA =2 38,324
* A (ot& %) 27,0003 * 23| * 38IHA 2,052
* 4= (5485) 283,900& * 80 A~ 22,712
* H4=(1383) 56,5003 * 33| * 80IHA 13,560
O OS24 ROl AAE S22
50,000& * 6o A + 12 3,600
02 3224l 5,500 4,200 1,300
O SH4+E223 SZDXN LE8 2WE
1,750 *= 200& * 12& 4,200
O et=aot=T &3l 1,300,000& = 1A 1,300
202 o4l 10,440 7,440 3,000
01 =UWodl 10,440 7,440 3,000
O DISA4+E AES BY @ X2
20,000& * 221 x 43| * 1442 2,240
O Oisa=x =2HA 2
20,000& * 291 = 53] * 144 2,800
O dt====2JF &EiXZAt
20,000& * 32! % 403] 2,400
O Xot Ol2AEH ¥ HEAEHZAL
20,000& * 32! * 23] * 20014 2,400
O Xots +EZTY 2TAA
50,000& * 2021 x 43| 400
O Ndts SHEAN DSEA
50,000& * 2021 x 23| 200
&= 6,462,006 8,213,231 AN1,751,225
WEAHAH K= 6,462,006 8,213,231 N1,751,225
WEAHA KIS 6,462,006 8,213,231 AN1,751,225
701 JIEISHEEZ2 6,462,006 8,213,231 AN1,751,225
01 JIEIHEEZ 6,462,006 8,213,231 AN1,751,225
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A ot A A

RS

=P HWEHAKNE

SA BB CR(SH) - NRAY - A S Ol o e
0 4 o
O 38J&xd3a 4223 36,068
* SUMASCANHIESHELEIIS)
236,000,000& * 1/15 15,734
* LM E A (BEsHELEIIZ)
175,000,000 = 1/15 11,667
* L ASEAEIESHELEEIIS)
130,000,000& * 1/15 8,667
O SLEREXYZT oS 79,000
* AOARG AL (U4E ESXS)
270,000,000& = 1/10 27,000
* AOPAF G AL (95 THSAS)
520,000,000& * 1/10 52,000
O ssJI& Hda &80kt 6,281

s BUNSEAY (O SUELEIIZ)

236,000,000& * 5/15 = 4/100 3,147
* LSS AIY(BESHELEIIZ)

175,000,000& * 3/15 = 4/100 1,400
* LSASEAIGOIESHELEIIS)

130,000,000& = 5/15 » 4/100 1,734

O SYHLRYZ M 0IR 16,738

» AQHASE AL (9 ESKS)

270,000,000& = 3/10 = 5/100 4,050

* AQHAR G AL (95HE THEXZ)
520,000,000& = 4/10 = 6.1/100 12,688
O Al&H| 210,000

2,000,0002 * 254 50,000
» AT ANES WAL
10,000,008 * 52 50,000
» HAE GIUA RIS
10,000,008 * 52 50,000
» BZ YA 247 HUTA
30,000,0002 * 1Al 30,000
* BT, 29 AKX KYMETE ST
= Z A 30,000,0009 * 14! 30,000
O SHAXNLAY(2H2LS) 5,968,919
* BAT M2TAY
2,617,143,00020 * 26.9999/100 706,626
5 MUT NLTAY
8,698,570,0002! * 26.99996/ 100 2,348,611
* AT MRTAY
5,488,570,000%! * 26.99996/100 1,481,912
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SN AR AR A
RS

=P HWEHAKNE

SN EY O (BH) - MRAY - BLS 01l & o Bl
Gil &t 0
* T AT AY
5,131,429,000& * 26.99996/100 1,385,484
xR WAT AT ALY
50,000,000& * 27/100 13,500
* 22 MEZ AFEAY
50,000,000& * 27/100 13,500
« D3 UG METAY
35,713,000& = 27/100 9,643
» AQH T AAETAY
35,713,000& = 27/100 9,643
O A2 =T AIE HEAMS
200,000,000& = 50/100 100,000
O JIz=dl&z0t7 =E&20|2 H3AY
90,000,000& * 50/100 45,000
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